H & 0l & AHS B Ml A

AERBHE Dt
MEHEY 2F

+1oY 2l

S A - BRI - HRA - BES of e A
[ 23,830,850 16,061,071
= 12,912,000
[ 140,000
= 3,638,280
Al 7,190,570
defety 2 481,765 21,588
FEQY 2| 26,588 21,588
H==HIESAlE 22 5,238 5,238
201 2egh=3| 2,838 1,734
01 At2t2ltl 1,704 600
ODE2 EHea 50,0002+ 122 600
O+TANIE 22 MH+Y(35) 7Y
92,0003 * 128t A 1,104
02 S3=gHl 1,134 1,134
OH=HiEAIZ 2| RN QERS
2,100 #4524 x 122 1,134
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
OHl==tiEAIE XN=8d & el X el
200,000 122 2,400
QEALL HHSH 75 16,350 10,350
1 2et2dl 10,350 8,350
1 Al 2] 9,750 7,750
O+ ANL42
150,000& #23| * 100 2 3,000
O=ZEALD 2| A2S
2,500,000& *14] 2,500
O+ 2EAMD HIIS EHel==2
500,000 <22 1,000
O+=E2EAMD LMH2IES
90,0003 x5 +53] 2,250
O=E2EALD XMel8 &Hl gx=
500,000& *22] 1,000
02 S3=24l 600 600
O=22g UAXMcE iR
50,0002 122 600
405 AtatsE = 5,000
01 ML ESFH S| 5,000
O=&=58A=DI 5,000
>aASSEAFED 1,500,000 *1CH 1,500
>PEE=ED 3,500,000 *1CH 3,500
=AM 2LIHE 6,000 6.000
207 ARl 6,000 6,000
01 1= 6,000 6,000




SN MEfotd ot
X dejgtd 28

el ELE 2c (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFFAA(=ZME) 2LIEY
6,000,000& 14 6,000
HEfotE Rl 455,177 0 455,177
CHHME oA = Al 455,177 0 455,177
201 Zet=3h] 335,331 0 335,331
01 AtR2t2|HI 175,731 0 175,731
Ot dEfotd 2te|+=SHl
700,000 * 122 8,400
O HMENTIE AIEFXI22IEN
167,331,000 * 14| 167,331
2 s5=34l 159,600 0 159,600
OB HMENSIE 2223
13,300,0002 122 159,600
207 ARl 19,500 0 19,500
01 S| 19,500 0 19,500
OB MElotd SRAY Al 2ULIEHE
19,500,000 * 14! 19,500
401 Al HIZL 01| 100,346 0 100,346
01 A&t 100,000 0 100,000
OB HMENSIE SRI24
100,000,000 14 100,000
03 AIZ S THYI 346 0 346
OAl4 S THYI 345,600 *14] 346
ot Ed e 23,308,195 15,039,483 8,268,712
= 12,912,000
[ 140,000
= 3,638,280
Al 6,617,915
ol& 3 18,887,107 11,314,000 7,573,107
= 11,662,000
= 3,473,280
Al 3,751,827
A=Y A (A= ExTHEHE & HH) 13,040,000 6,487,000 6,553,000
= 11,662,000
Al 1,378,000
403 MR EHSAHE01H 13,040,000 6,487,000 6,563,000
= 11,662,000
Al 1,378,000
02 S7I2S0 U H=E 2 EAIEI 13,040,000 6,487,000 6,553,000
OUZH B4ZER o A&
13,040,000,000& *14] 13,040,000
= 11,662,000
Al 1,378,000
NUSAZHI(S2E THAHOILAIS) (&8I (HEAL) 1,701,667 0 1,701,667




AHENGHA 1t
otdetd e
ofd 3l EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,000,000
Al 701,667
401 Al HIZL 01| 1,701,667 0 1,701,667
= 1,000,000
Al 701,667
01 Al&H| 1,366,667 0 1,366,667
OS<d Hotiole (ot EHI L=5. 15km)
1,366,667,000& *14] 1,366,667
=S 820,000
Al 546,667
02 2/l 300,000 0 300,000
Ozl 300,000,000& *14] 300,000
< 180,000
Al 120,000
03 Al 2 0HHI 35,000 0 35,000
OAIE20HbI 35,000,000& x 14 35,000
XI2HoH & S| (GHETHGHONI ) (R & THOHOI AL ) (3 3,586,000 3,988,000 £352,000
=) (R AR)
== 2,438,480
Al 1,147,520
401 AIEHIZ SR 0HYI 3,586,000 3,938,000 /352,000
< 2,438,480
Al 1,147,520
01 Al&H| 3,286,000 3,435,000 149,000
O==H THoh ol (St & HI 1=8.0km)
3,286,000,000& * 14 3,286,000
= 2,234,480
Al 1,051,520
02 Zeltl 300,000 500,000 A.200,000
Ogeldl 300,000,000 *14] 300,000
== 204,000
Al 96,000
NLSHEFHI(AEA - AR THOHOIZARS ) (HIZ=HT)( 58,000 889,000 831,000
HEAY)
= 34,800
Al 23,200
401 AIEHIX SO 58,000 889,000 /831,000
= 34,800
Al 23,200
01 A28l 58,000 889,000 831,000
OdlEd - JAH ol (st ZHl 1=2.853k
m) 58,000,000 * 14! 58,000
< 34,800
Al 23,200




£A: MEHoHE Dt
I GEEE A
s ofd & EEED
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
A= SUHIAA 501,440 501,440
401 A& BIZ20HYI 501,440 501,440
01 Al&Hl 500,000 500,000
O3Fd 2HlaA 500,000,000& 14 500,000
03 Al 2 CHYI 1,440 0 1,440
OAIZ 201l 1,440,0003 14! 1,440
Eyel FalPSlall 1,134,000 1,049,000 85,000
AOHELAE X FHI(HEAIY) 434,000 529,000 295,000
401 A& HIZLS0HY| 434,000 529,000 A95,000
01 Al&HI 434,000 529,000 A95,000
O2otEA” X7 FH| 434,000
>2ote AXA B D
34,000,000 14! 34,000
DR HHA XD
20,000,000 14| 20,000
DREH ADIUHE X
35,000,000 * 14 35,000
DAZD SXLH FBX P
40,000,000 14! 40,000
DAZH oA AR
50,000,000 14| 50,000
DA A0S 2SR
20,000,000 * 14! 20,000
DXEH o= AR
40,000,000 14! 40,000
DR ACAIE IEXR?
45,000,000 *14] 45,000
PSHH NEEH /XN
50,000,000 14! 50,000
>PEYH 2ASE /X
50,000,000 14! 50,000
>ads 2AIIE AEXF
50,000,000 14 50,000
HEAGHE FHI(HISH)(HEAY) 200,000 0 200,000
401 Al HILS0HY| 200,000 200,000
01 Al&HI 200,000 200,000
Ogsacta Adl(L=2.6km)
200,000,000 x 14! 200,000
A5t PY 0IXZ2EX S84 500,000 500,000
401 AlEHIZ20HY| 500,000 500,000
01 AlEHI 500,000 500,000
OAoHERY OIXZEX 24
500,000,000 14 500,000
ot 2tel 3,287,088 2,676,483 610,605
= 1,250,000
s 140,000




FA et
M siEe N
&2l otd 2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 165,000
Al 1,732,088
otd sXlZel 1,353,888 1,353,283 605
101 @124H| 219,344 219,19% 149
M ORINZZE2NSE S 219,344 219,19% 149
OSAAURA(GHA 2F 3 & RA=A2) 219,344
>llEs 2,386,780 *10& 82 190,943
D> oXt=g 11,4202 +BA| 2E+10E +7 L 6,3%
>=EH=RY=S 197,337,600 4. 5% 8,881
PALEEE 197,337,600 +3.545% 6,9%
PARLEER 6,995,610 %12.81% 897
[PE=tet=: N3 197,337,600 *1.75% 3,454
DAHESEE 197,337,600 0. %% 1,777
201 el 25,660 23,060 2,600
01 At22t2lt] 7,460 7,460 0
Osdtd &el=&H| 330,000& 122 3,960
Ostd 22| e HA+
70,0002 102 +53] 3,500
02 S3=gHl 18,200 15,600 2,600
O==clAlE &JIRs 1,100,000~ 128 13,200
OctEAlE 3| =Al2e
5,000,000 * 14 5,000
202 04l 4,800 5,760 A960
01 =LHAHI 4,800 5,760 A960
Ot &g SHAlS| 50|
400,000 12& 4,800
401 AlZHIZ SO 1,101,584 1,102,268 A684
01 A28l 1,100,000 1,100,000 0
Ottd X2 ==(L=45%Km)
900,000,000& *14] 900,000
Ootd =& 200,000,000& 14] 200,000
03 Al 2 HHI 1,584 2,268 684
OAI4 2THYI 1,584,0002 %14 1,584
405 AtatsE = 2,500 3,000 2500
01 ML ESFSHI 2,500 3,000 A500
Oul=7| 500,000 =5CH 2,500
2(S)F e 2l 23,200 23,200
201 2= 23,200 23,200
01 AtR2t2lt] 23,200 23,200
OHESX(BZHX) E&+2
400,000& 142 X| 5,600
O=(3)= ML A= S48
600,000 «7 & X 4,200




£A: MEHoHE Dt
MH: slEE
s ofd 2 EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OXN=EE =442
400,0002 102 X 4,000
OJI& (A6 7Y SHHAASE S
2 800,00024+83] 6,400
OSIl & 2HEII=2R
100,000& *30&! K| 3,000
Ztotd RAZ= 1,250,000 460,000 790,000
= 1,250,000
401 AlEHIZ 20| 1,250,000 450,000 800,000
= 1,250,000
01 Al&Hl 1,250,000 450,000 800,000
O=Jtotd A2+
1,250,000,000& * 14 1,250,000
= 1,250,000
THoHCHEl XIots ot &l 200,000 490,000 A290,000
& 100,000
Al 100,000
401 AlEHIZ 20| 200,000 490,000 A290,000
& 100,000
Al 100,000
01 AlEHI 200,000 490,000 A290,000
OMHChYl XIgot® St &I
200,000,000& » 14! 200,000
= 100,000
Al 100,000
THOHCHEl XI5t S22 130,000 0 130,000
& 65,000
Al 65,000
401 AIEHIZ 28I 130,000 0 130,000
= 65,000
Al 65,000
01 AlEHI 130,000 0 130,000
OTMHaHCHEl XI5t SR
130,000,000 14 130,000
= 65,000
Al 65,000
= ot SHIHL 50,000 0 50,000
401 AIEHIZL 2018 50,000 50,000
01 Al&Hl 50,000 50,000
OdA=& & &X 50,000,000& 14! 50,000
ADIE HS2eAAE 25 280,000 0 280,000
s 140,000
Al 140,000
401 AlEHIZ 20| 280,000 0 280,000
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KIO

Hlw

280,000

90,890
49,744
49,744
49,744
47,540

2,204
41,146
41,146
20,106

18,026

2,080

9,240
9,240

P SEes
Ofl &k2h

Ofl &F2H

I8

140,000
140,000

280,000
280,000

Al

]

140,000
140,000
90,890
49,744
49,744
49,744
47,540

Al

2,204
2,204
2,204
41,146
41,146
20,106
18,026
18,026

2,080

47,540

2,080
9,240
9,240
6,240

P

- SRA(E) - HIRAY

SRE-L

70,000,000 %44 A~

=
-/

OADIE HZ2CIAIAE 2

01 A=l

[

OH

11,3193 142 +300A1 2+
18,026,000 x 14

18,3603 *1&*x120A1 2+
AtS2telt]

01 2=
01 AtR22te|Hl

101 e124d|

30
O
[0
[0

30
0H
x

2,080,000& %14

01 S0

202 04|

520,000 123

o
10

ok
D
il

3,600
3,600
8,200
8,200

3,000
3,600
3,600
3,600
8,200
8,200
2,500

300
1,500
2,900

600

400

o
[uind

1 CH

100, 000& *4H

300,000 122
2,500,000& *1CH
300,000 = 1CH
1,500,000
2,900,000 +1CH
600,000 »1CH

3,000,000 *14]

og)

]

3

F

020Y 015t

01 Atard
OPC(2LIH)
OHI
O2A0IH M|
O8I XK

405 Xt




